1. ST THIA WA IET |, TET m & JHAR
21 x + 2y BT HM fhaa1 8?2

In the attached figure, line | is parallel to
line m. What is the value of x + 2y?
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A) 315°
B) 340°
C) 270°
D) 225°




2. gfe gl FHTaR Warsi Y ufawde HA
qrelt U fad® &4 7T & TP gl kP
% &I 3id: BIVN T U 2:3 §, I &I
DI T A ST ST HIH-91 82
If the ratio of two interior angles on the
same side of a transversal intersecting two

parallel lines is 2 : 3, then which is the
larger of the two angles?

RRB-ALP-Stage -1, 25/11/2024, (shift -1I)
A) 136°
B) 120°
C) 108°
D) 54°



3. gqHe Pars H, Tfe HIUT 2q 3R 25 BT
ATHd 150° € STdfd BIVT 2P 3R 2R BT

3UTd 4:3 8, A1 2R DI AT FITERII?

In a quadrilateral PQRS, if the sum of
angles £Q and 4£S is 150° while the ratio of
angles £ZP and 4R is 4:3, then what will be
the measure of £R?

RRB-ALP-Stage -1, 25/11/2024, (shift -111)
A) 90°
B) 210°
C) 150°
D) 120°



4. APVIRD G| TSTHIVBIC IV
HIY & U A | 6° $H g | IS PV PI
HIY T 7
Two angles are complementary. The larger
angle is 6° less than five times the measure

of the smaller angle. What is the measure
of the larger angle?

RRB-ALP-Stage -1, 26/11/2024, (shift -11)
A) 87°
B) 63°
C) 66°
D) 74°



5. gfe U g9 ag Yol | 35 fawut g, o
P 3fc: HIVI BT TN T g2
If a regular polygon has 35 diagonals, then
what is the sum of its interior angles?

RRB-ALP-Stage -1, 26/11/2024, (shift -lil)
A) 1980°
B) 1440°
C) 1800°
D) 1620°




6. FAYST ABc, AYS DEF & THFU B, WTE1
BC/EF = % & | dl Td PIfeTg -

Triangle ABC is similar to triangle DEF,
where BC/EF = Y. Then find -

RRB-ALP-Stage -1, 27/11/2024, (shift -I)

&% d (AYS DEF)

&T%d (Y ABC)
A)4
B) 16
C) 1/16

D) 1/4



7. Y PaR & 3id: qHIGHTS® 2q 3R
/R, SR A g1afe 2p=75° 8, @ zasr
&1 HH fHaa18?

The internal bisectors 2Q and ZR of

triangle PQR meet at S. If £P = 75°, then
what is the value of ZQSR?

RRB-ALP-Stage -1, 27/11/2024, (shift -11)
A) 127.5°
B) 112.5°
C) 102.5°
D) 105.5°



8. gfe g gHiaR Y@ fHwl fade o< va1 gR1 H1dl
Wl & a PR S s-araae?

If two parallel lines are cut by a transversal, then which
of the following is true?

a) T BV RTER I B |

a) Corresponding angles are equal.

b) THIdR 3id: PV HYRX® Sid 8 |

b) Alternate interior angles are supplementary.

¢) ford ¢t ¥a1 & TF g TR® I 94 HHNTG DIl
W EA B

c) Consecutive angles on the same side of a transversal
are equal.

d) THidR 3id: BT RIaT ard &

d) Alternate interior angles are equal.

A)Wa. B)Wb.
C)b3MRc. D)as3MRd



9. gfe g IHFY FAYSI ABC 3R DEF &
URHTT FH: 75 cm 3ﬁ'\’40cm%3ﬁ?"qﬁ
BC, 15 cm @, ol EF 1 WdTs T 872
If the perimeters of two similar triangles
ABC and DEF are 75 cm and 40 cm
respectively and if BCis 15 cm, then what is

the length of EF?

RRB-ALP-Stage -1, 28/11/2024, (shift -I)
A) 8 cm
B) 12 cm
C)6cm
D) 10 cm



10. 6 cm FASaT AT Srefgw & Icwivl fpu o
P a1 Ja9 95 FYS F1 &awd
fra-T 82

What is the area of the largest triangle that
can be inscribed in a semicircle of radius 6

cm?

RRB-ALP-Stage -1, 28/11/2024, (shift -I)
A) 72 cm?
B) 38 cm?
C) 36 cm?

D) 76 cm?



11. gfe, agUS IKLM H, BT, K, L 3R M B
HIJ 2:3:5 6%3'@131?[%,&?@%
Fafafead S wars?

If, in the quadrilateral JKLM, the measures
of angles J, K, L and M are in the ratio
2:3:5:6, then which of the following is
the quadrilateral?

RRB-ALP-Stage -1, 28/11/2024, (shift -1l)
A) It (square)
B) U (Kite)
C) JHTAR il_g"{-ITrf (parallelogram)
D) HHAd (trapezium)



12. TP RAYIF AMUR PIFER TS T &
W%W%Wﬁﬂ?ﬂfwz cm
g SR Y & i Sars U O S
YSIT D GaTg & SRIER ¢ Fora®T Qawd
169 sq cm%l ﬁ‘{-ﬁ[ﬁ&qm(sq cm ﬁ)
fa=T gm?

The length of the base of a triangle is equal to the
perimeter of a square whose diagonal is 7V2 cm and
the corresponding height of the triangle is equal to
the length of the side of a square whose area is 169
sq cm. What is the area (in sq cm) of the triangle?

RRB-ALP-Stage -1, 28/11/2024, (shift -11)
A) 130. B) 152
C) 182. D) 156



13. Ofe TP JH dgYS H 65 fapui g, a9
TEYS DI YoIr3fi 1 F=T fal gRft
If a regular polygon has 65 diagonals, then
what will be the number of sides of this

polygon?

RRB-ALP-Stage -1, 28/11/2024, (shift -11l)
A) 14
B) 12
C) 10

D) 13



14. & FAYSI ABc 3MI¥ DEF H, TS AB = EF, BC
= DF 3R cA = DE B, Fufefaa 3 «14-
a1 951 82

In two triangles ABC and DEF, if AB = EF, BC
= DF and CA = DE, which of the following is

correct?

RRB-ALP-Stage -1, 29/11/2024, (shift -I)
A) ABAC = AFDE
B) ADEF = ABCA
C) AABC = ADEF

D) ACBA = ADFE



15. FAYST ABCH, AB = 6m, BC = 8m 3R AC=
10m g | FIYST PRQ H, PR=8m, PQ=10m,
Gﬁ? RQ = Gm%Imﬁﬁaﬁq
AT BT A 3 H 87

In triangle ABC, AB =6m, BC=8m and AC =
10m. In triangle PRQ, PR =8m, PQ =10m, and
RQ = 6m. Which of the following is the correct
order of congruence?

RRB-ALP-Stage -1, 29/11/2024, (shift -111)

A) ABAC, ARPQ & JalTHH 2
B) ACBA, ARPQ P TdHH B
C) ABCA, ARPQ P TAINTIH &
D) AABC, ARPQ & JAITTHH 3



16. Of¢ Tp U IgYS | 20 f[awoi g, ai 59
FEYS B YoIT3fi P AT fba 82
If a regular polygon has 20 diagonals, then
what is the number of sides of this

polygon?
RRB-ALP-Stage -1, 26/11/2024, (shift -I)

D) 10



